1. The surface area of a solid sphere
is 120 square centimetres. if itis :
cut into two halves, what would :
be the surface area of each hemi- :
sphere? :
Since the surface area of the ephere §

is 120 sg.cm., --
41~cr2-r20 ¢r2_120 4 30

_ Surface area of a hemisphere 5
=3nr? = 3 x 30 = 90 sqg.cm. §

2. The volume of two spheres are
in the ratio 27 : 64. What is the
ratio of their radii? And the ratio .

- of their surface areas? :

Voiume of a sphere = -g-nr

~ Let the radu or the spheres be r
andr, :

4 3.4
2 m, '3 nr =27: 64 |
,-r3 r? = 27164, rirf= 84
rir,=3:4 | '
Ratio of their radii = 3:4
. Ratio of their surface areas
=41 % (3r)?: 47t x (4r)>
=4 x 9% 4 x 162 -
o= 9:16 |
3. The base radius and length of a
metal cylinder are 4 centimetres
~ and 10 centimetres. If it is melt-
ed-and recast into spheres of
radius 2 centlmetres how many
'spheres can be made‘?



Volume of cylinder = ntr’h

=70 x 47 %10 cu.cm.
= x4x4x10 cu.cm.

- Volume of sphere
_ 4 rs_4 5 03

S M=o M % |

_% X 2x2x2cu.cm.

. Number of spheres got
_ nx4x4x10

i%nx2x2x2

4 x4x10 _
‘4x2x2x2X3 15

‘4. Ametal sphere of radius i2cm
is melted and recast into 27
small spheres. What is the

radius of each sphere"
- If the radius of the big sphere is |

R, its volume = 4,R

3

—‘%xnx12><12><12 |

= 23047 cu.cm.
Volume of 27 small spheres
= 2304 7t cu.cm.
if the radius of a small sphereisr,

27><§nr3' = 23047 |

27 xfalﬁ = 2304

36r° = 2304
12 =2304 + 36 =64
=48 . F=4 |
Radius of the small sphere =4 cm




5. From a solid sphere of radius
10 cm, a cone of height 16 cm

‘is carved out. What fraction of
the volume of the sphere is the -
volume of the cone" | -
Let X be the centre of the sphere
andY the centre of the base of

~ the cone.

YZ = \/102 62
~./100-36 = \/— g

‘Base radius of the cone = 8 cm'




